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Richard Johnson, Gene Steuerle

Q: Who are Richard Johnson and Eugene Steuerle of The Urban Institute?

Richard Johnson:
My name’s Richard Johnson, I’m a senior fellow here at The Urban Institute.  I direct the institute’s program on retirement policy and we look at really what’s going to happen as the population ages: How is that going to affect older individuals, how is it going to affect the younger taxpayers, how is it going to affect businesses, how is it going to affect government.  My particular research focuses a lot on work at older ages, retirement decisions and also long-term care issues, which is increasingly important to the economic security of older Americans.

Gene Steuerle:
My name’s Gene Steuerle.  I’m a Richard B. Fisher chair here at The Urban Institute, and an institute fellow.  And my work largely is in the area of public finance, fiscal policy, budget policy, but along the way I do quite a bit of work on programs for the elderly and for the disadvantaged, partly because I’m concerned about the fiscal impacts and partly because I worry about their design and structure and have a few books and articles out on Social Security and retirement policy.

Q:  What’s happening to older workers in the Great Recession?
Richard Johnson:
So this recession has hit older workers particularly hard.  Their unemployment rates have increased to record levels, that’s both for men and women 55 and older.  So we’ve had the highest unemployment rates for those groups than we’ve ever seen before.  

There are – in 2009, there were about 2 million Americans, 55 and older unemployed, more than 3 million Americans 50 and over unemployed.  What is, I think, striking about those numbers is that there were twice as many older Americans unemployed during last year in 2009 than there had ever been before the recession started in ’08.  So unemployment has really been hitting older workers hard.  The unemployment rate is about 7 percent.  

It’s higher for men than for women.  I think it’s important though to put that number into context, which is that even though the unemployment rate has increased a lot for older workers, it’s still lower than it is for younger people.  So what is unusual, I think, for older Americans is that their unemployment durations tend to be longer than for younger folks.  So that when an older person loses his or her job, more than half of them are spending six or more months out of work and there is some evidence that older workers just have a much harder time finding jobs. 

It also used to be the case that older workers were less likely to be laid off than younger workers so that when they got laid off, it hurt.  They were out of work for a long time, that’s not so much the case anymore.  Now it seems that older workers are almost as likely as younger workers to be laid off in a job.  It doesn’t mean that the unemployment rate is higher.  We know that unemployment is a little bit lower, but conditional on working, they have been hit almost as hard as younger folks.  

So while the official unemployment rate has reached record levels for people 55 and older, for both men and women, that number probably substantially understates the number of people who want to work and aren’t.  A lot of people, particularly at older ages become discouraged when they can’t find a job so they drop out of the labor force.  They don’t report themselves as looking for work, they’ve simply given up, and estimates overall are about the – that that the total unemployment rate, once you include people who are discouraged, rises from 9.7 percent for the entire population to about 17 percent.  And it’s basically the same impacts at older ages.  So I think it’s important when we look at the official unemployment rate that we recognize that there are some people who aren’t captured by that.  

And I think that’s – what we have seen in the past recessions and why this unemployment rate is so much higher for older people this time is because fewer people though are dropping out.  It used to be the case, I think the in ‘80s when older people lost their job, they simply retired and took Social Security.  Now they’re staying in the labor force because they’re very concerned that they simply can’t afford to retired as early as they would have 30 years ago.

Q: Why are older workers getting hit so hard by the Great Recession?
So why are we seeing this change?  Why is it that older workers don’t seem to be as protected as they once were?  I think a big part of it is decline in unionization so unions tend to protect older workers.  There’s just fewer unionized workers today than there were in the last big recession in the early to mid ‘80s.  That’s one thing, also I think that workplaces are just more freewheeling today than there used to be.  

Just in general, seniority rules are not as important.  There’s more contingent workers.  I think employers have a lot more freedom to lay people off than they used to and they’re not sticking as much to the seniority rules that prevailed in the past.  Also, seniority is just less common today than it used to be.  So we just have fewer people with very long employment histories with a single employer so yes, it’s true that older workers tend to have longer tenures than younger workers, but that difference is not as great as it once was because more people are just turning through their jobs now than they used to.  Just people are just changing their jobs and so they just don’t have as much protection with a single employer as they once did.

Gene Steuerle:
At the same time that we have many more unemployed among the elderly, we have many more staying in the labor force so that, in fact, the labor force participation of the elderly is going up.  Of course, some of this we attribute to the fact that there was a recent stock market crash.  Even there, I should caveat a little bit.  Some of that is not all bad in the sense that I think the stock market bubble gave many older workers a misleading representation of how well-off they were going to be in retirement.  And in some ways the crash is actually bringing reality into the picture at a time when some of them can adjust rather than 20 years later when they can’t adjust.  So we actually see the labor force participation of the elderly going up, and, I guess, the employment rate of the elderly has actually, if I’m correct, has not actually gone up.  It’s about the same so the number of unemployed is going up at the same time the labor force participation rate of the elderly is going up.  And I think that’s important to note.  The other additional element I would just add, is, remember now that with the aging of the population, there just are many more of the elderly so that the extent that experienced workers, say over 55 or a smaller portion of the population, there may have been more of a demand for that experience as their numbers rise in numbers, that relative advantage tends to go away.  

Q:  What’s happening with the labor force participation rate of older workers?
Richard Johnson:
We have seen a big increase since 1993, as Gene mentioned, so between 1993 and 2009, the participation rates for a man 62 to 74 increased about 40 percent.  So that’s the share of the population, the share of men, 62 to 74 working or looking for work, increased about 39 percent.  For women ages 62 to 74, between 1993 and 2009, participation rates increased by 66 percent.  So we have seen this dramatic increase over the past 16 years.  Or that’s something that was accelerated last year so that even though the unemployment rate reached record highs, participation rates also reached record highs, and when I say record, I mean for participation rates over the past 16, or well 30, years maybe, not going all the way back because as you say, participation rates used to be much, much higher for men.  


So during the recession, even though, as Gene said, unemployment rates increased, because participation rates increased so much, the employment rate did not decline for men or women 62 and older.  A different story for men and women 55 to 61 and 50 to 61.  There you did see a decline in employment, so I think it’s important that we talk about older people that we – what exactly is an older worker?  Is it – because I think the impact of the recession is much different for people 62 and older, than 50 to 61.


So why did participation rates decline so much from let’s say 1940, even 1900, to the mid ‘80s?  A big part of it was the increase in Social Security.  So Social Security just – the benefits became much more generous, they extended to a greater share of the population, and so you had just more people who could afford to stop working by 62, let’s say, where in the past that was not possible for most people.  


You also had the big increases in traditional defined benefit pension plans, and these are plans that provide people a monthly payment from the moment they retire until they die and based on how much they earned for the employer and how long they were with that employer.  And these plans create strong incentives to retire once you qualified for a benefit, because if you work after you qualify for a benefit, you’re giving up that monthly benefit and you’re never really gonna get it back.  


By working longer with the employer, you’re gonna get a slight, in most plans, you get a slightly larger benefit in the future, but it’s not enough to make up for the loss of the benefit that you have to forego by continuing working and not retiring and starting to collect your benefit.


So these traditional defined benefit pension plans really discouraged work, and they were becoming increasingly popular over this period.  We also started the advent of retiree health insurance plans.  That’s something that was increasing a lot and allowed people to afford to retire before 65.  The introduction of Medicare certainly allowed people to retire and not worry as much about healthcare costs, and then just the increase in wages and wealth is the fact that people have earned higher wages, they can save more and that allowed them to retire early.  

And I think what’s striking about the decline for men and these trends refer only to men, women were working – we see more and more older women in the labor force in the post-war period, just as women entered the labor force, of all ages.  But what’s striking about the decline in participation rates for older men is that it occurred at a time when people were becoming healthier so they were physically able to work longer and the jobs were becoming a little bit less physically demanding.  

Gene Steuerle:
But I think there’s a broader demographic story that helps explain why, a point of fact, we adopted these types of policies, both by government and by private employers.  And that has to do with the fact that there was a huge influx into the labor force of fairly low-cost workers, mainly women and often the baby boom population.  So to the extent that there is a labor force is because we demand the labor to provide us the goods and services we want and during much of the post-war period, up to very recently, that labor could be met by women entering the labor force and by say the baby boom population.  


What has happened in recent years is first the women finally started catching up with men in terms of their employment rates, so they no longer were this mass under tapped, if you want to, pool of human resources.  And the baby boomers, in fact, starting in 2008, of course, they’re now starting to retire where they then entered the work force and one has to realize that when the baby boomers retire, they sort of have a double impact.  

It’s not only are they not working, but they’re moving into the beneficiary population, so they’re sort of a double hit in terms of as a society, whether through government or through private resources.  Who pays and who receives?  And the optimistic side of this story, I think, is that essentially older people, say 55 to 80, maybe even beyond, are now the largest underutilized pool of human talent we have in society.  In many ways, I think they are to the first half of the 21st century what women were in large parts to the last half of the 20th century, this vast pool of talent that I think is going to be tapped to meet this demand for labor. 


Now having said all that, let me just add the one caveat, that doesn’t mean that all sorts of policies don’t have to change from seniority paced scales among employers or the design of pension plans, or the design of Social Security and Medicare, all these institutions in some sense have to accommodate these demographic changes, but I think there is an optimistic side to this story. 

Q: What about health issues, average retirement age and older workers?
Richard Johnson:
The health of people at midlife and older ages is much better today than it was 30 years ago.  There’s some concern about what the future will bring.  We’re seeing some slight increases in disability rates among people in their 40s, concerns about growth and obesity rates, growth in diabetes rates, all of those are a little bit disturbing, I think, but we focus so much on the obesity epidemic that we lose sight of an even bigger trend, which is dramatic declines in smoking and how that translates into much better health at older ages.  


So it’s clear that despite some concerns about what the future might bring in terms of health status, that older Americans, midlife Americans today are much healthier than they used to be and that jobs are less physically demanding than they used to be.  As we shifted from a predominantly manufacturing economy to one based on services, they’re just fewer jobs that require lots and lots of physical effort.  That allows more people to work in their 50s and early 60s. 


Now that doesn’t say – I don’t mean to imply that these physically demanding jobs don’t exist.  They do and that creates problems, I think, for people in those jobs who want to work longer.  And so what happens to them – one of the things we do find though, is that about a quarter of people change occupations after age 50.  So a lot of people who start off in physically demanding jobs when they’re young, transition into less physically demanding jobs when they’re old, and so are able to stay in the workforce. 


And it’s definitely clear that many, many older people are able to work and want to work and do want to contribute and it’s not just the paycheck.  If you look at participation rates, labor force participation rates at very old ages, at 70, at 80, there’s always people with lots of education and lots of money who aren’t working for the paycheck, but they’re working just to give life meaning.

Gene Steuerle:
If we actually look back in 1940 when Social Security was first established, or even 1950, the average age of retirement was 68.  Eligibility for benefits was 65, average age of retirement was 68.  One has to be careful, too, because 68 today is not the same as 68 50 years ago or as the common expression is, “The new 50 is the old 40,” or whatever.  “The new 60 is the former 50,” or however it’s expressed.  So if I translate this age 68, the number of year’s life expectancy people had then to today terms, it’d be about 75, that it is if we were to retire today for about the same number of years as we did in 1940, men would be retired – basically men and women would be retiring about the age 75.  


And our projection show that if you go forward another 50 years, that would be about 80.  So the difference between 75, the equivalent retirement age of 68 in the past, and when people are retiring today, which is about 63, 64 is quite substantial.  We’re pretty close depending how you do the accounting.  There’s different ways of accounting.  We’re pretty close to retiring for almost an additional decade relative to the past, and that’s the point in time when our health has become better and physically demanding jobs have become less.  


So I think what this tells us is that one reason that we started retiring earlier and earlier relative to our life expectancy is simply that we had a wealthier society, and we decided that we wanted to spend more of our national wealth on retirement.  A lot of cases it was our private wealth, but in other cases, it was also the government resources that were made available.


And as I commented earlier, I think much of this was made possible by the fact that there were resources in society.  There was a labor force from women, and baby boomers and others, they were able to fulfill those demands.  I think that’s shifting, and I think what we’re gonna see is somewhat of trend backwards, if not necessarily towards rapidly increasing the number of years spent in the workforce.  Certainly there will be an increase in the number of spent years in the workforce, and the good news again is that I think relative to the past, we’re healthier, jobs are less physically demanding and we’ve actually been retiring for a lot more years than in the past when we proved we actually could work.  

Q:   How does the changing nature of the U.S. economy help or hurt older workers?
Richard Johnson:
What we’re seeing at all ages in the labor force is a growing in equality, so there’s an increasing return to education.  Men who don’t have more than a high school education have not seen their wages increase.  Their wages have actually fallen over the past 30 years, and this increasing growing in equality, I think is particularly pronounced at older ages, so that while we’re seeing participation rates increase at ages 62 and older, they’re not increasing at ages 55 to 61, and that’s driven primarily because participation rates for people with limited – for men with limited education has been declining over the past 50 years.


Part of that is – not only is it the case that people with more education have better job opportunities, people with less health – with less education have worse health and so we’re seeing more – while health overall is improving, it’s not improving for people with limited education.  And in fact, a lot of the longevity gains are really are concentrated among people, well-educated people with more income.  It’s not going much to people with more limited educations.


One of the complications with these things is it’s always hard to compare different educational levels over a long period because someone without a high school degree today is more unusual than 40 years ago.  So I think you have to be careful about making those comparisons.  But I think it’s still the case, it’s clearly the case that people with less education are doing worse today than they’ve ever done before.  And it raises concerns about if we – as we’re trying to get people to work longer, what do we do about people with limited education with health problems who really find it difficult to get a job.

Gene Steuerle:
The issue that’s raised is what sort of the demand is there for older workers, and at one time I think we would have been more concerned about the ability of people to deal with physically demanding jobs, not that many people don’t have them.  I think what’s happening gradually over time is the concern is the concern is shifting towards people with lesser education.  This is not the group that’s rapidly increasing its work supply at older ages.  And this is the group that I think we have to pay most attention to as society adjusts over time.

Q:  Why are 50 to 61 year olds, in particular, being hit so hard by the Great Recession?
Richard Johnson:
Participation rates for men 50 to 61 have not increased.  It’s actually fallen a little bit, and we also have seen, particularly during this recession, that the unemployment durations for people in this age group, people 50 to 61, is very long, so that when people in their 50s, in their very early 60s lose their jobs, it just takes them a long time to find another one and that’s – when you look at employer surveys, employers say that they value older workers, experience and their maturity, but they also say that they’re concerned about the fact that their healthcare costs might be more expensive, their wages are higher, that it’s more expensive to hire a new older worker rather than a new younger worker.  

So it’s cheaper to hire a younger person than an older person.  If you actually look at the data, you look at the healthcare costs, they are a little bit higher for people in their 50s, but they’re not dramatically higher than relative to let’s say to someone in their 30s.  People in their 30s have children, and so childbirth expenses are very high.  That’s something that a 50 year old woman is not going to experience, so there are some offsets in terms of really how much more expensive is it to hire a 55 year old than a 35 year old. 

But because wages tend to increase over time, wages are a little bit higher on average for people in their 50s than people in their 30s, though again it’s not dramatically different and so sometimes perhaps unclear why employers seem somewhat reluctant to hire older people.  Part of it could be simply because they’re worried that they’re not going to be with the employer as long as the 30 year old, so a 55 year old is not going to be with this employer for 20 years probably.  A 35 year old might, again unlikely that 35 year old these days is going to be with that employer for 20 years.

Employers also express concern that well, maybe older people haven’t kept up with the latest technological skills, so they might not have the skills that the employer is looking for.  And so we do see that older workers are less likely to get employer provided training than younger workers.  And again, that could be because of this concern that they’re just not going to be around long enough to make that investment worthwhile.

Gene Steuerle:
I think there’s a story among employers too.  I don’t think, for the most part, employers have caught up to demographics as well.  Until very recently employers still had many early retirement plans even as the number of young people coming into workforce were not in sufficient numbers to meet their demand for employment so they’ve had in place a number of structures that I think have impeded hiring older workers.  I think some of their seniority pay scales have also encouraged them to get rid of older workers.  It may be at age 55 or 58, maybe we’re not quite as productive as we were at 45.  But generally speaking we don’t have pay scales that actually fall as our productivity falls off.  

In some sense, we’ve sort of had this pattern of retirement in the United States that I think still dominates, but is sort of a funny one if you think of it, which is sort of that we’re sort of like what are sometimes called one-horse chaise.  The notion is you rode on this one-horse chaise, then one day it would just fall apart and you went and bought a new one.  

Well, we sort of treat workers the same way.  They’re like fully capable of working, and then one day boom, they can’t work at all, and that’s what retirement is often meant in the United States is retirement – we still think retirement means you drop out of the labor force altogether which is – if you think about it historically -- is a little silly.  When you worked on the farm and you were older, not that most people made it to old age in those days, but if you did, you did what you could.  Maybe you didn’t go out and cut the wheat, but you slopped the pigs, whatever.  But you still participated in the working of the farm, so this notion that workers are like one-horse chaises is a little bit of – if you think about it, a little bit of a silly notion.  

And I think it mainly comes out of the industrial age when it’s probably true that at some point you just couldn’t work in the factory anymore and therefore you just needed retirement.  But although it’s a misleading metaphor, I still think it dominates employment.  

I think from the employee side there’s something else that goes on, too for older workers, and that is simply that older workers are much more likely to conclude that it’s not worth to effort to make some of the efforts that younger workers would do.  So, for instance, to move to a different city in pursuit of employment.  If you’re younger, you might think if I go to different city, I can make it and maybe it’ll take me five years to get started, but 10 to 15 years from now I’ll be good shape.  

If you’re 50, 55, 60, you might be thinking about retiring in five years anyway, so making a move to take a chance for the next five years and finding something is just often not as worthwhile.  So if you’re in a declining region or declining city in America, this is particular problem because jobs are really being lost there much more so than say in some of the more booming areas.  

And in fact, you’ll find that these employment patterns that you’re examining really vary quite widely by region and they’re not nearly as severe in areas with rising employment, and they’re much more severe in areas of falling employment.  But again, think about it, the areas with falling employment, it’s the younger workers who are leaving and the older workers who are staying behind.  

So, for instance, you have a state like West Virginia that a lot of people have, at least at one point, maybe still has the oldest population in the United States.  That’s because the younger families are moving out.  The younger people moving out and the older family members are staying there.  Younger families moving out reduces demand, and, therefore, it just exacerbates the cycle where the older workers can’t find a job and decide why do I want to move now.  

Q:  What is the relationship between level of education and employment for older workers?
Richard Johnson:
A good percentage of men 55-plus who were unemployed in 2009 had worked in the construction industry.  We think of the construction industry, I think, as employing only young people, it’s predominantly young people, but there are a substantial amount of older people who work in construction who are employed, about 20 percent, I think, of the 55-plus male unemployment ranks are construction workers. 


And certainly also manufacturing is a big part of – manufacturing sector has been hit hard during this downturn, as well, and it has hit older men and women as well.  


The prospects for unemployed people without a college degree are pretty grim, particularly those who didn’t complete high school.  You look at their unemployment rates at older ages, they are more than twice what they are for college grads and the unemployment rate has more than doubled for older college grads as well, but it started off with a much lower base.  So a very large percentage of people without college degrees are out of work at older ages, and I don’t think – certainly as the rewards to education increased as they’ve been increasing, as you’re likely to increase in the future, I certainly don’t think that the prospects for people without much education are going to do anything but get worse.  I think they’re going to get much, much worse in the future and certainly globalization, I think, plays into that as well.  At least with the construction industry you can’t offshore those jobs.  You can offshore manufacturing.  But as you say, perhaps the fact that these jobs offer pretty high pay during the boom, and maybe too many people ended up working in these areas didn’t get training in other fields, and now when those jobs disappear it is really difficult for them to find jobs elsewhere.

Gene Steuerle:
I’m not sure that data on construction or manufacturing is necessarily hitting the older workers any worse than younger workers, and we have a very significant unemployment problem among young people today, quite significant.  Much higher unemployment rates than among older workers and also even among middle-aged people.  So the issue of the ability to find jobs, and good paying jobs by education, really cuts across all age groups.  And what that means to some extent is that some of the solutions there have to cut across all these groups as well.

Q:  What does the future look like for Social Security and Medicare?

Social Security is one of the most successful programs we’ve ever had at the United States.  I think there are a variety of reasons for this, but among them is I think there are a number of features of its design that are somewhat unique.  It really goes a long way towards dealing with poverty among the elderly.  It actually adjusts benefits for lifetime earnings of people, unlike our welfare like systems which sort of just look at your annual earnings.  It actually looks at your lifetime earnings and tries to decide what level benefit you need.  


It’s been remarkably successful and been extremely popular and has been increased over the years by Republican and Democratic presidents alike.  At the same time, we’ve come along with the system of Medicare and also a system of Medicaid long-term care.  Turns out that a large percentage of the elderly, if they’re in a nursing home for more than a year or two end up spending down their assets and relying on Medicaid, so these systems have grown over time.  And I think, once again, because we had a growing economy, we had a lot of labor force entrants  throughout from women and young people and baby boomers and so on and so forth.  These were very affordable.


Today, the average couple who retires gets a Social Security and Medicare package that’s worth just short of a million dollars.  That’s what they would need in a 401k account or an individual retirement account in the bank at age 65, to be able to pay for these benefits.  This assumes, by the way, this account’s earning money.  And some people wonder how did that number get to be so large?  


I think it largely has to do with two things. One is the rapid growth in health costs, which both cost government money, but to the extent the elderly get hit with the remaining costs.  It’s also hitting the elderly.  The second issue has to do with the fact that the number of years of support.  So at age 62 when you were first eligible to retire on Social Security, the average male has a life expectancy of 18 years; the average female about 22 and the longer living of the two about 27 years.  So that means a typical couple retiring – if they retired age 62, with average health, one or the other then will be getting benefits for 27 years.  So take a number like about $40,000.00 which is about, over time, the annual benefit that this couple would be getting, multiple that by 27 years and you get close to a million.  I’m dodging a bit of the math here, but that approximates what’s going on.


If you take younger people about age 40, 45 today, that package of benefits grows to about one and a half million.  That’s partly because of a few more years of retirement, although that’s less the growth of the future.  The system is also indexed so that if the younger generation earns higher wages than their parents, they get higher annual benefits, which then translates to higher lifetime benefits.  And then a lot of the growth in the future also has to do with the rising cost of healthcare, a problem we have not really solved as a nation and have only barely begun to tackle even with this health reform bill, whatever else you may think of it, it’s only barely tapped into this issue.  


So we have a system that now is fairly generous, at least in terms of lifetime benefits and at the same time now we have a demographic shift.  As the baby boomers move from working, where they’re filling the ranks of the employed into retiring, they actually do two things when they retire, all of us do when we retire.  


One, we move out of the earning population, so that’s not just less income we’re producing for ourselves.  That’s also less income we’re producing for society and contributing in the way of taxes.  And we’re moving to the beneficiary population and so there’s actually, in some sense in terms of government finances, there’s sort of a double hit when we retire.  We’re going to contribute less, and we’re going to take more out of the pie.  And the decline in workers to retirees is projected to drop from about three to one, about three workers for every retiree if you want to to about two to one.  

And in truth, the way we’re designed our retirement systems in the United States as well most of the developed world, they’re mainly what we call pay-as-you-go systems. By pay as you go, I mean basically the money the taxpayers contribute pretty much goes out to beneficiaries.  Yes, there’s a few years where we saved a little money in something called trust funds, but it really was a tiny portion of the amounts paid out.  So it’s largely a pay-as-you-go system.  

So now if you go from three workers per retiree to two workers per retiree, and if you want to maintain the same level of benefits, well, if two workers have to support what three workers used to have to support, you’d have to bump tax rates up 50 percent. On the other hand, if you say, “Well, we’re not going to raise tax rates at all on these workers,” and now you’ve got two people supporting what three people used to support, then you’ve got to cut benefits by a third.  So those demographics are interacting with the fact that,  independent of the demographics, the system per recipient is growing more and more expensive.  And that’s the dilemma we’re sort of facing from a broad fiscal standpoint is just how much do we want to provide to ourselves when we’re old, how much can we demand of younger workers, how are we going to get health cost under control and what’s the appropriate number of years and the benefits we should be really providing in society to deal with these issues.  

Richard Johnson:
And high unemployment just makes these fiscals pressures created by an aging population only worse.  So what we’ve seen – we’re seeing now is that for the first time, I guess ever, Social Security is paying out more in benefits than it’s collecting in taxes.  And if unemployment rates maintain their current level, if they remain this high going into the future, unless Social Security is reformed, taxes may always fall short of benefits. 


Before the recession the CBO (Congressional Budget Office) and the Social Security Administration both projected that taxes would remain higher than benefits until about 2016, 2017 if the recession – if unemployment rates stay that high, we’ll probably never be in a situation where taxes are enough to cover benefits and the same thing with Social Security, and the same thing with Medicare.  Medicare tax revenues are down because fewer people are working.  Both Medicare and Social Security are funded primarily by payroll taxes.  And it’s not only that unemployment is increasing – it’s not only that unemployment is declining tax revenues, it’s also leading people to claim earlier.


So we saw in 2009 a record number of people are claiming early Social Security benefits, claiming at 62 presumably because they can’t find work.  If they can’t find work, a Social Security check is a lot better than nothing.  That’s bad for Social Security.  It’s perhaps even worse though – at least – well, let’s – what is the impact of early claiming on Social Security?  Maybe not so bad because Social Security is generally actuarially fair, so if you claim at 62 versus claiming at 67, you’re going to get the same lifetime benefits.  Now that comparison is a little bit more – once you think maybe more deeply about that comparison, though, if the choice is between collecting at 62 and not working versus holding off until 67 and not working, then it’s pretty much a wash. 


However, if people worked from 62 to 67, that extra tax revenue can certainly help Social Security and the entire government budget system.  So I think the early claiming is a bad thing for Social Security budgets and certainly for the overall fiscal situation of the country, and at the same time, what does it mean for individuals?  If you claim early, you get a lifetime of lower benefits.  If you waited until 65, 67 to claim, then your monthly benefits would be higher for the rest of your life once you start collecting. 


So people who are forced, people who choose, depending on your viewpoint, to retire at 62 may regret that decision when they’re 80, and they start experiencing higher healthcare costs because their benefits would be lower.

Q:  How do the country’s fiscal problems impact older workers?
Gene Steuerle:
Essentially the United States government, the federal government is spending roughly $30,000 per family per year in terms of what it pays for all the services that it provides.  This is not just Social Security, Medicare, but includes defense and justice and everything else.  We’re collecting about $20,000 in taxes so that means every year we’re borrowing about $10,000 to support this $30,000 payment.  And a significant portion of that borrowing, by the way, today, is from abroad, unlike in World War II, where we mainly borrowed from ourselves, and therefore had to pay the money back to ourselves.  This money is being borrowed from countries like China and oil producing countries, as well as Germany and a few others.  And it simply can’t continue, and among the reasons it can’t continue, even if you thought that it wasn’t a problem in and of itself, is that the interest cost of the debt just keeps rising. 


So if I ask what the principal change that would be wrought by the Obama administration, if I looked out about 2015 and I looked at its budget, and so I’ve looked at their budget in the year 2015 and the biggest change of all, by the way, is interest cost of the debt.  Interest cost of the debt would rise by about $350 billion dollars.  That’s the increase, that’s not the amount of payment, that’s just the increase in interest cost.  And those interest costs just keep compounding, because if we’re borrowing that much money, and the interest cost on that borrowing keeps going up, then the system is in danger of exploding.  And even if it doesn’t explode, we’re constantly decreasing the amount of our income, our production that we actually get to benefit for ourselves, as opposed to paying to someone else.


So there are a lot of reasons why we have to deal with this fiscal issue, but among them is that it’s literally in danger, to some extent, of exploding.  And say even if it doesn’t explode, the interest cost, and the other costs associated with this are costly and putting the crimp on the rest of the budget.


Now today we’re talking mainly about the budget for the elderly and for older workers and for older people, but in point of fact, if you look at the budget, for instance, again, let’s look at the budget that the Obama administration put forward recently.  It actually has, over the next few years, another $100 plus billion going for Social Security.  It has several hundred billion dollars more going for healthcare, which is the big driving force in terms of spending and that’s not due to health reform.  It’s just, in many cases, due to existing programs.  


And it’s got these huge increase in interest costs.  If you look at the rest of the budget, after you take out – take into account deficit reduction.  It actually projects the rest of the budget will go into decline so we would actually have to take money away from the rest of the budget.  And the rest of the budget includes things like wage supports, includes programs for children, it includes education, includes justice, includes workers who work for the government to collect our taxes.  That’s scheduled to go into absolute decline even as we have these interest costs rising through Social Security costs which are rising moderately and these health costs which are rising quite dramatically.  


So if we don’t really get our fiscal house in order, it’s not just that we’re going to have danger of this sort of exploding economy.  We have the danger that the rest of the budget, many of the other things we want to do as a society is going to be increasingly crimped.

Richard Johnson:
Social Security is primarily designed to provide people with a secure retirement and in combination with other sources of income, so pension savings, may be combined with work.  If we make changes to Social Security, we have to do it – we have to give people time to adjust their behavior so they can offset some potential cuts to future Social Security benefits.  So in 1983, when we last made some major changes to Social Security, one of those changes was an increase in the retirement age, the full retirement age, from 65 to 67.  The retirement age didn’t start increasing at all for 17 years.  It didn’t start increasing until 2000.  


So that when we’re talking about changing Social Security and we see that the system is going broke, we need to get those fixes in place before the system – long before the system goes broke.  So that people can, if they realize that their benefits are going to be lower in the future than they were expecting, they can start saving more when they’re younger, they can work more, they have time to react and get a plan.  So that’s why it’s important that we – the sooner we fix Social Security, the less serious are the impact will be on people.

Gene Steuerle:
Sometimes these fiscal issues having to do with Social Security and healthcare for the elderly are presented as issues affecting the elderly and in some sense that’s misleading.  Yes, they are programs for the elderly, but for the most part, the current elderly population is not going to be affected by these changes.  Their Social Security benefits are not going to be reduced.  Their health benefits are pretty much locked in, although certainly if we decide we’re going to spend a little less on hospitals or try to slow down the rate of growth of health costs in the long run, then they may end up with a slightly lower cost surgeon or something that’s like that.


But for the most part, the current elderly are not the ones who are facing the choices here.  The choices, in terms of getting our fiscal house in order, are largely being faced by middle-aged people because it’s the growth in government for them as they approach the elderly years that is the issue at stake.  So almost all of government growth and domestic spending is basically targeted toward more and more spending on younger people, if you want to, or middle-aged people as they age.  And so their choice or our choice as a society is that where we want government growth to go, or would we like to see it go more towards other needs, including items like education for those who are near elderly or people who might need to make a job shift or other transition to jobs or programs for children, a whole variety of other things.  Those are the real choices.  


They say unfortunately we equate what has to be addressed with respect to elderly programs with the notion that it’s the current elderly who are going to face those choices when in fact they’re probably the group that’s the most immune from these various policy changes.  And I should say, by the way, that in many cases, they were the ones who came through, except in the case perhaps of decline in home values or something, they’re the ones who actually came through the current recession with some of the least losses because it’s one thing to have a house which is still sitting there be slightly worth slightly less on the market.  So maybe I can’t sell it and do other things, but it’s still providing the same services, and I’ve already retired, I haven’t lost my job so my Social Security pension is staying the same so the current elderly, in some ways, were more immune from the impact of the recent recession than were younger populations including the new elderly that we’re talking about who often lost jobs and really are struggling to figure out how to make it.

Q:  What are the impediments facing older workers and what can help them get back to

      work now?

There are many impediments to work at an older age.  But I think that again we have to think about this beyond the institutional impediments to the – almost the sociological impediments.  That is there’s this notion in science of path dependency.  We get on a path, and sometimes it’s very hard to sort of get off that path.  And I think that we’ve been on a path dependent set of policies for some time, and it largely revolves around the fact that as a society we decided that we’d take a significant amount of our increase in societal wealth and we’d spend it on ourselves, on better healthcare and retirement and more years in retirement.  And so the share of our national economy went up substantially for programs for older workers. 


That wasn’t just the share that went up in terms of the public sector.  It’s probably even true in terms of the private sector, in terms of the growth and private pension benefits and retiree benefits for at least for awhile.  


And that’s all well and good.  The question is whether that goes on forever.  Obviously if elderly programs are taking a rising share of GDP, at some point it can’t go on forever.  They can’t occupy more than 100 percent and probably much less.  And I think that the retirement of the baby boomers, a lot of other demographic factors have now sort of made it the day of reckoning.  And we’re having to adjust a little faster than I think perhaps we should have because I think we’ve been on this path dependent set of policies.  


So I’ll list some that I think needs to shift, but I think part of what needs to shift is just a broader attitude of what do we want.  If we still are lucky enough to become richer as a nation, how do we want to spend those increased resources?  And is the notion only that larger and larger shares are going to go to us when we are older, or do we think perhaps we want more leisure when we’re younger?  Perhaps a little bit easier path to when we’re raising kids to be able to be at home.  A little bit easier path when we’re on the job or other resources.  


So along the path – I thhink things we can identify that came through institutionally during this time was in part the earlier and earlier retirement age and Social Security.  And I mean that with respect to the statutory age, which drops from 65 to 62, but the fact is that as we were living longer, we never made much of an adjustment, so now we’re retiring for close to a decade more than we used to so now that we’re on average retiring 18 to 22 years for males and females, the questions is is that really the right number of years?


And you might say, “Well, why do we have to make adjustments?”  Well, it’s that it’s not just that we’re close to retiring on average for about a third of our adult lives, about 20 years, about a third of an adult life, not full life, but of adult life.  We’re going close to the point we’re about a third of the population, close to a third supposed to be scheduled to be on Social Security and that may be sort of a tipping point in which we have to move backwards.


And so one adjustment is to start thinking about when are we really old?  And if we used to be old at 68 or 65 or we’re really old at 62, well the government says that we get old age pensions at age 62.  The government defines us as old at age 62.  I’d like to argue, and now I have a bias for making that argument given my age, that maybe we’re not old at 62.  And so if we even just simply adjust our notion of when we are old, I think it has all sorts of implications for how institutions would adopt beyond Social Security, but of private institutions.


So for instance if we increase the early retirement age from age 62, it actually has almost no effect on the amount of benefits we’ll get because actually we get a little higher benefit at later ages for retiring later.  But it has all sorts of impacts elsewhere throughout the system because now we’re gonna be earning more income.  So if I work and make say $50,000 more for one more year, that’s $50,000 more in the system.  $50,000 more of income, some of which I keep, some of which I pay in taxes to support other things. 


So I think just defining when we are old can have these enormous impacts, and it would start playing through and it already is in some ways, in the employer world in terms of how employers start making pensions available more to older people.  We’ve had some adjustments there and they haven’t been easy because they haven’t provided as much security in old age.  But the movement away from what it used to be called classic pension plans where you got a monthly check from the time you retire to the time you die, we’ve moved away from that more towards things like 401k account.  And at one level that’s provided more insecurity in old age, but at another level it’s actually provided more of an incentive to hang onto older workers because in these old classic plans, the way they were designed, they ended up to be very, very expensive for older workers.  And employers wanted to get them out of the labor force, they wanted to fire them.  And so that’s an example of an employer adjustment that we’ve been making.  We haven’t made it, by the way, with respect to public plans. 


So if you actually read now about all the problems the state pension plans are having, some of these arguments about just the fact that they don’t have the funds in place to pay for benefits, but the other aspect of it is they’re encouraging all these very productive people to leave the labor force.  So if you’re a teacher and you work in a typical public school system throughout the country, if you started there at age 22 and you get to be age 52, or 55, you’ve maxed out on your pension and in fact, if you work another year, you’re almost working for half-pay because you’ll earn 100 percent of your pay, but you are entitled to 50 percent of your pay as a pension and you lost it.  


So we still have these systems in place that tell people to retire at age 55 and move on and do other things.  That type of system doesn’t work.  I’m not arguing for full movement towards just 401k world because I think that’s got problems too, but we need to make that type of adjustment.  


Government also has problems with things like Medicare.  Medicare, right now, is provided to you unless - if you’re over 65, it’s provided to you unless your employer provides health insurance and then your employer’s supposed to pay for it.  Well, if we decide that Medicare is going to be available, whatever age, whether it’s 65 or 66 or whatever, but it’s 65 now.  If Medicare is available, you shouldn’t have to pay a big tax for the fact that you work for an employer that provides health insurance, because the employer looks at this as well.  An older worker, all of a sudden I’ve got to cover their health insurance cost which is quite expensive?  And actually this problem may be even exacerbated with the new health reform cause it’s the same thing, now the worker can get health insurance through the exchanges that will soon be available through health reform.  


So the employers looks there and says, “Why should I be paying this extra fairly expensive health insurance for this older worker?” If you’re eligible for Medicare or something at age 65, then you should be eligible for it.  We should get rid of this notion of what in technical terms is called Medicare as a secondary payer, which is if you have a private employer, the employer has to pay and not Medicare.  That’s an impediment to work.


I think the classical seniority pay scales is an impediment to work.  This is not something that’s been induced by – government has it to some extent in their own employment, but private employers adopted it.  Older workers sometimes become less productive when they’re older, but they are not totally unproductive, and we need to figure out ways to allow pay scales to adjust downward to allow older workers to transit to part-time jobs or to take on less productive jobs without the notion that necessarily we have to fire them and get rid of them.


So I think there are a lot of institutional impediments to work that we’ve created, but as I said, I think many institutional impediments come from a broader path dependence on this notion that more and more of our growing economy is going to spent on us in our elderly years.  And it’s not clear to me that’s true anymore, and moving off that path is gonna require almost a change in attitude of government, employers and everyone else.

Richard Johnson:
I think the good news is that a lot of the impediments that did exist, discouraging people from working at older ages are disappearing, so that the traditional defined benefit plan is pretty much gone in the private sector, as Gene says, still very common in the public sectors.  Starting to get some rumblings that maybe taxpayers don’t want to pay those generous benefits for their state and local government workers, but we’ll see if that’s – if change actually does happen there.


Social Security has made some important reforms that really now encourage work at older ages.  So the full retirement age did increase from 65 to 66, and it will soon increase to 67 for people born before 1960.  Perhaps more importantly, we’ve had increases in the delayed retirement credit so it used to be that if you worked one year past the full retirement age, you – I’m sorry.  If you delayed collecting one year past the full retirement age, you’d get an extra one percent; your benefits would increase one percent.  Today, benefits increase eight percent, but that delayed retirement credit, as it’s called, only goes up to 69, to 70.  So once you’re 70, you don’t get any additional increment.  We could, perhaps, increase continued delayed retirement credit beyond age 70 to give people incentive to work even well into their 70s for those who are healthy enough to do it.


There’s concerns about that people want to partially retire and that that would allow people to phase into retirement on the job so they can switch from full-time employment to part-time employment.  One of the impediments to that has been that you couldn’t collect your pension while you’re still working for the employer that’s providing that pension.  But to the extent that for that these traditional pension plans are disappearing, that becomes less of a problem for a lot of people.  They could still dip into their 401k, for example.


I agree with Gene that we really do need to increase the retirement age, the age that which Social Security benefits become available, which is 62.

Q:  So what can we do in the short term to help people who are 50-plus and looking for 

      Work?

We’ve seen a real decline in the amount of money going toward workforce development programs in this country.  So while we have – the Department of Labor runs these one-stop career centers where people can go to get help looking for jobs.  There really isn’t much money devoted to training workers, particularly older workers.  We see that – we look at who’s using these one-stop career centers, older workers are much less likely to get the intensive kinds of job assistance, intensive training, for example, than younger people.  So we need to try to – I think the Federal government can do more to encourage these centers, which are run at the state level but funded with federal money to reach out more to older workers, to provide more training so that they can find jobs.  So that they can, I think, move into a whole new line of work.  I think that’s important.  If you’re 50, if you lose your job, you might have lost your job because it’s a declining industry, it’s going to be hard to find a position now in the automobile manufacturing industry, for example. 


You’re going to have to – people who are out of work from that industry are going to have to look elsewhere.  And so are going to need new training and new skills, and I think it’s important that the public sector, that the government provides some of this funding to make that possible.

Gene Steuerle:
I should mention also that in the United States, one of our, I think, more successful social policies and one that has been backed by Democrats and Republicans alike has been a movement towards wage subsidies.  This has been particularly the earned income tax credit. 


The earned income tax credit is basically available to families with children, and so we’ve never really extended work subsidies.  This is low wage work subsidies beyond those families with children, and I’m among a group of people who believe that we really should figure out ways to include lower wage workers regardless of whether they’re raising children or not, and that would actually include a number of older workers as well.  


Again, it doesn’t solve the problem of finding the job for the person, but at least it helps those who have to settle for a lower wage job.  At least it can help them make this transition towards the years when they are eligible for things like Social Security.  


I should also mention, by the way, that because of these increasing wage disparities and a whole variety of other reasons, even though people like Rich and myself tend to favor an increase in the retirement age, we also tend to favor an increase in something like minimum benefits so that among the poor, the elderly, we would actually make them better off, and their lifetime benefits actually would not go down at all.  


Our dilemma in terms of the retirement age is that while there are a number of people who are quite sympathetic, say in their early 60s that they can’t work, it’s very hard to design a policy where you retire everyone to solve the problem of a few.  It just gets very expensive, and that’s the reason we want to be able to encourage more employment at later ages, recognizing then we have to make a lot of adjustments for the disabled, to make sure that lifetime benefits don’t go down for lower income workers or those with shorter life expectancies and make a whole variety of other adjustments along the way.  

Q:  Why is the long-term job outlook for older workers more promising?
Richard Johnson:
In terms of the prospects for older workers going into the future, one thing that really works in their favor is that there’s gonna be a shortage of younger people.  So between 2008 and 2020, the number of adults, Americans 25 to 54 is going to increase only by 2 percent ,so it’s basically going to stagnate over the next 10 years.  Over that same period, the number of Americans 55 to 69 is going to increase 34 percent, so we’re not going to have enough younger people to do the work.  We’re going to have a lot of older people, and so I think that means that we’re going to see a change in attitudes toward work at older ages.  Employers are gonna be more willing to hire them, people are going to be interested because of concerns about retirement security.  People are going to work longer so I think the long-term outlook is bright for older workers, even though right now a lot of them are hurting.  Ten years, things should be better.

[End of Audio]
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